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Exam Name – Certified Agile Developer (CAD) 

 

 

Sample Exam 

 

1) Which of the following is NOT a characteristic of a Waterfall approach? 

(Choose three) 

 

 

A) Attempts to Define Detailed Requirements Upfront Prior to the Start of the 

Project 

 

B) Change Control may be Implemented to Manage and Limit Changes in the 

Project as it Progresses 

 

C) May be Broken Up into Phases with Phase Gates to Approve Phase 

Transitions 

 

D) Requires breaking up the project into iterations 

 

Answer: D  

 

 

2) True or False: A Waterfall approach is best suited for projects that have high 

levels of uncertainty 

 

True 

 

False 

 

Answer: False 
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3) Which projects suits waterfall approach? 

 

A) Building the pyramids 

 

B) Projects with high certainty 

 

C) Building Bridges 

 

D) Software  

 

E) R & D 

 

Answer: ABC 

 

 

4) Which three are problems associated with the Waterfall model? (Choose 

three) 

 

A) Startup risk 

 

B) Cost risk 

 

C) Computation risk 

 

D) Financial risk 

 

E) Technical risk 

 

 

Answer: ABE 

 

 

 

 

 

 

 



 

              Global Association for Quality Management (GAQM) 

 

5) Which approach helps in reducing project size by effectively making several 

mini-projects? 

 

A) Scrum 

 

B) Lean 

 

C) Agile 

 

D Pareto 

 

Answer: B 

 

 

6) Agile has multiple planning and development phases, known as __________ 

 

A) Process 

 

B) Iterations 

 

C) Function 

 

D) Procedure 

 

Answer: B 

 

 

7) Which type of testing is associated with programmed checks to ensure that 

existing features continue to work as defined as new features are added? 

 

A) Black Box Testing 

 

B) Functional Testing 

 

C) Base Test 

 

D) Technical Testing 
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Answer: B 

 

 

8) Which type of programming practice objective ensures wasteful to have two 

people doing the work of one? 

 

A) Automated Build 

 

B) Retrospectives 

 

C) Continuous Integration 

 

D) Pair Programming 

 

Answer: D 


